166,  Foraverapevalues of lvad current, current chop ping
accurs more frequentlyin

(A) VCB's m OCEs
{0 -ACEs (D} 5F,Ch's

167, A BT issaid to beoperating in the saturation region,

iz

(A} Both Lhe junctions are fopwand biased

(B) both the junctions are revers: b

{0y B-Fjunction is reverse biased and B - Cjunciion
is forward biased

(D) B-Ejunction is forward biased and B-C junction
is reverse biased

The mutual inductance bekw:
coils of 9H and 4 F will

%H;ﬁﬁ L 13H

)

168, nity couphed

(&) 36H (B 22H

I'.
=

y sigFmally obtained in & circuit under
f maximum power transfer is:

® 5%

o 75%

170.

171. A magnetis kept in the medium of aie surrounded

by an ironring. The magnetic lines of force oo the
magnet will be

(&) Verysmall i the ring

(B} Crowded inthe ring

i) Passing out of the ring

I Evenly distributed within the ring

DD-2014/ Paged2

172

173

174

177

178,

Which semiconductor device behaves like twi
SCR's ?

(&) Tnac
) JFET

B MOGFET
o ur

Thiree resistors, tach of 'R {1 are connectéd instar.
What is the value of equivalent delts connected
peszabors ¥

e’

(A) 3RO (B}

Wi sl

G 2R Iy

(18]

Super position theorem cin b appliad .
(A bilateral nebworks
(8 linear networks e

In & Auarescent ks circuit, the function of choke is
* pedmarily o -

(&) improvethe brightmess of the tub
- (By imitiate the discharge

() meduce the flicker

(1 reduce the starting current

The magmetic field energy in an inductor changes
from maximum value fo miniomem vabhae in 5 msec
when connected i an wc source. The frequency of
the sowrceis
[A) SO0 Hz

£ 50 Hz

(B 20Hz
D) 200 He

" The distelbution Josses that the utility suffers while
tranaferring power from generating station to the.
consumer is accounted mnder
(4) Maintenancecost
() Fixedcharges:

{O) Running charges
Y Costof fuel
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179, The magnetic potential difference in a magnetic | 185, A 3-phase 4 pole induction motor works on 3-phase
circuit is given by : S e/ s supply. 1 the slip of the motor 5 4%, The

(Ay BIH By HJD @ B [ HI actual speed wilibe:

(&) THITpm ®  1550Tpm
180, Two electric bulbs have tungsten filament of same 3 MU rpm ©) 0 rpm
thickness. I one of them gives 50 W and the other
Eives 100 W, then : : S
. 186, As per [E rules the peemtssible variation of vollage
(A) 60 W and 100 W lamp filaments have equal at the congumer end &
Tesey
B (A} =6% | =10%
() &0 W lamp filament has shorter length !
) L12% o =%

{3 100 W lamyp filament has longer length

{TA 60 W lamp filament has longer length
' 187, Inwhich single - phase motor, the mh:«r has no
or winding ¥

181, A capacitor with no initial chargeat b= o (A} Universal motos

(A} Open-Circuit
(0 Current Source

]

" lﬂﬂn.-
182, “Dgnger 440 V" plates'sre

(A} informal notices .
QE_H‘ caution notices

{© 2N [ 4N

184, UsinEMﬂJmst}mmnfmdﬂaecunmﬂamugh
melmdmsumﬁ_uiﬁﬂremlamahm

16V TV
Hga ehim (B) 25 milli chm

ohm D) 25kilochm () 12A {Bl 44 (O 6A D) BA

184, The purpose of chokeinafluorescent tube jsto: | 190 Anideal voltage source should have:

(A) increase voltage momentarily {A) infinite source resistance

(B) decrease current {8} largevalueofemf

(D) increase current 15} soall valee of emf

(0} decrease voltage momentarily (¥ zeTo source resistance. 3

DD-2014/Pagedd. . ; © 651 QM 4




1. Consider a constant uniform magnetic field, A

conductor moves across this field at a constamt
wvelocity, The emf induced in the conductor is termed
Cast )

{A) Seli - Induced emi

# Induced emf

12} Staticaily Induced el
() Dynardeally Indseed e

192, A generating station supplies the following loads

130060 kv, 12000 kW, 8300 kW, 6000 kW and
450 kW. The station has maximum demand of
2000 kW Calculate the diversity factor.

W1s1 @ 0% O

193, A magnetic circuit cammes

smda.flu.xt mthea&gap_ Ik

194

B 1015%
o 50%

195. A whieat stome bridge has ratio arm of 1000 £ and
106 £ resistances, the standard resistance arm
eonsist of 4 decade resistance boxes of 1000, 100,14,
1k steps. The maxinmm and minimuam valee of
inknown tesistance that can be determined with

this setup are :
(&) 1171004, 10 £ B
Q) 11106, 10 £k oy

111100 £, 10
10000 0, 100

DD-2014/ Pagedé

1%6. Thevenin's equivalent voltage and resistance

199.

20,

between the terminal A and B for network of given
figure is:

_F”MTW“iL

T _-—Iﬂ‘l.-’

(B) 23V,3750)
% 125V, 250 L

(A} 25V,1250
() 125V,3750

Low frequency operation of 4.4 series motor in
traction application |

Improvesits conunutation bub slaringe A3

1207 :
120 i
&5 © (T

Which of the following motor has high 5ta[t1ng i
torque? ;
(A) synchronous motor
{B) a.cseries motor
(@) dic series motor
(I induction motor

What is the order of minimum displacement that
can be measured with capacifive transducers 7

(A 1%10-2m (B
© 1mm 8]

1lem

1pm

~oldo-
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101,

102,

103

T

105,

106.

107,

TEST - {iii)
Part - C : GENERAL ENGINEERING (Mechanical)

For laminar flow in a pipe, average velocily is equal
L

[
@ 05U,

B Umay
@ 025 U

Crude odl of kinematic viscosity 225 stokes flows
through a Mem diameter pips, the rate of flow being
1.5 litres 5. The fhosr will be:

{A) Uncertzin {B} Laminar

Gy Turbulant (B Transition

The power iransmitted by abell is maximuom when
the maximum tension in the belt g‘:mpared o
centrifugal tension is © S

{A) 35 times {B) Zifimies

() 3times D) 4times ‘
Effart lost in friction in a simple| inais:

() P-2P, (B 26—

@ Py=Pf2 O P-Fy

Mo unifarm ramming u-fmmlﬁingwd m.q‘m
b0 the following casting defect:  * ;
(A) scabs () Ewelld

) blow hales

_g reversed Cammot cycle

(G reversed Joule cycle

ﬁmﬁsad Atkinsoncycle

For a centrifugal blower, power consumption is
proportioral to:

{A) cublc power of r.p.m.

{®) rpm

IO} squareof rpom.

(| 1] s;:,]unrémn{n! L.

108, A teaction urbine (hydraulic) discharge 34 m* /s
under a head of 8 m and with an overall efficiency
Al 9%, The power developed in MW is:

(&) 432

() 245

® 3.24
i 234

109. The equivalent évaporation {kg/hr.; of a benler

produging 2000 kg/hr. of steam with enthalpy

contentof 2426 K]/ kg from feed water i lemp 40°C 58

(liquid enthalpy =168 k[/Lg: enthalpyl '&F :
vaporisation of water at 100°C = 2258 EUCHP& )

(B, 42000

{41 1649
) 2149

i i o slage expansion
i ect, the intermediate
(F ﬁs the following relationship with
siure () and mninimum pressure {P.:}

R
WE

111, Bischarge () of acentrifugal pump is given by -
(A} BV, B =DV,
0 =bv; ) wdbV;
Where, D=[ametorof impeller at inket.
b= Width of impeller at inlet.

V= Velocity of flow at inlet.

SPACE FOR ROUGH WORK
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112, When steam flows over moving blades cfanimpulse | 119, Ankmpartant factor to be taken intoaccount while
turbine: designing a core prig s -
{A) both pressure and velociny decreases, (A} Pouring berm pera e
(B} pressure drops and velociby increases, (B Pttern material
-} pressure remains constant and velocit
L |Ii-_-crea|5E.. ¥ () Typeof moald
() both pressure ard velocity remains constant. [ Mouiding sand characraristics
3. Eléctrode wsed in TG s 1200 The flow of water in wash basin thurous by cendral
(A} Copper (B} Tungsten opening is an example of -
i Aluminium D) Cast iron {A) Rankine vortes
] : ] {B} Freevortex
4. Masimum efficiency fora single stage pure impulse
blading {symemetric) with nozzle angle ‘o is : i0) Parced vartex
afa’ (D} Romtional wortex
[y Lol [E | B cosa ,
121, Whichoone of the follow) mgs.afeﬂ dew Jkgﬂmm ¢
a protect the boiler when the water level Ea%‘qm
(T} eosdn {0y mﬁ[z} minimam level :
T {A) Safety valve
115 The crank pin s to be connected in the'bish dnd the (8) Waterlevel indicatag
dimensions for the bush n‘nd-t.!l:m,!t are. Eiven i Finisible plug
e Y 1 S e U:‘l Blowatteock:
° rfsru,ctwe[}l of in_mnware iﬁ*nm w&m F 5 W O
Maximum clédrance between bugh and mn}‘. ey 1% o
is ) t&;ﬂf {#) 1mlfsec
(A D.079mm {® 0.007%mm .;i] 1 mm?/ s D) 10 m?/ sec
(©) 0025 mm B 0.062 mm r
' ‘123‘ Exiler's number relates ;
116. How many links does a m-gm m iy ;
cantain 7 (A} Tnerhia force and elasgtic foroe,
(&) Ten \Jwﬂ- (B} Inertia force and gravity force.
{0 Four ﬁ 1%“ () Iertia force and pressure foecs,
117. " A single- %Lm,w:ﬂ'nl diameter of e
120 e ro T the blade spead ratio s
(L4, the inlet of steamn will be 124, The length of a pipe 5 1000 m and its diamieter ie
ﬁmmﬁ B Blm/s e W the diameter of an equivalent pipe 40 cm,
S Zm0mys (D) 450 my's then its langth is :
; -~ (A} 4000 m (B) 32000 m
118 For hydrodynamically smooth boundaries, the () 20000 (D) 8000 m
Iricticn lactor for turbulent flow is ;
dependent onrelati hness ond
?;‘: mx:;.ui SRR Y 125, A casting defect which results in general
{0 dependentonly a Reynelds number xkialpmiricy tda“mgl’;h‘?“m:
D) Function of Reynolds number and relative ) swell (B) shif
reughness () sand Wash (I blow hite
SPACE FOR ROUGH WORK
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126, A jotof water issues from a nozcle with a welncity
20 m/s on a flat plate moving away from it ol
10 mys. The cross-sectional area of the jet is (.01 m
and the density of water = 1000 kg/m®. The force

developed ot the plate in Newtonsis:
(&) 2000 {H) 9810
() 5000 (5 Toog

The total number instantanesus centres for 2
pechani=m consisting of ‘0’ linksare ;

127,

nin- 1]
2

(=3 =

{4

—

n-1]
2
el i =

r": i ':":5-..\5

Poisson's ratio is dafined uw:_{e. J

(A} Shear stress to shear st ) '

r.n o

o

128,

P

(B Longitudinal sirain to laferal strsin =
(O Lateral sh-alnlnlumgimdi.ﬁhji_iﬁi’_n
(D] Axial stress to axial sirain .

The product of circular pitch-and diamete .
equak to; £

129,

Mod

curves for velocity

RRRRRRE

(A) 5000 (B) 1000 (C) 3000 (D) 4000

136

131, The dimensions of the surface tension sre!

(a) Ml LVTE
& MLITY

(B (M LETY
@ MLTTY

To prevent csciliationof the menisous the lenpgth of
the connwecting bubes should be;

A unegual

) large

10 small

(h equal to 16 times diameter
133, Foranideal gas the compressibility factoris:
Ay somefinite value groater than unity
B 2er0

{C} units

jup to 2 mon a smoth
acting parallel o the

. Reheat factor for a multi-stage steam turbine is the
Tatio of ; ki
(&) inlet temperature to the exit femperature.

T ® cummlative enthalpy drop bo the total isentropic

.mﬂ'lal'p_-,',_ .

{€) total isentropic enthalpy drop to the total

entropy increase.

([ total isentropic enthalpy drop to the exit

temperature.

The purpose of the fywheel inan T engine is:

i4) Toregulate the uel supply

(B} Tokeep the output poveer constant at the drank
shaft

[} Toincrease the power capacity of the engine

(D) Toreduce the vibration inan engine

SPACE FOR ROUGH WORK-
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137,

138.

139,

140,

141

1A) 24mysec

The ratio of equivalent length of the column 1o
myinimam radinsof gyrration iscalled as:

(#) Bulking factar
(B Factorof safery
() Poisson’s ratio
D) Co-efficlent restitution

The ot wire anemometer 1s used Lo measure
(A) Liguid velocities

(B) Pressure in gases

() Discharge of gases and liguids

(LY Gas velocities

An engine ol of viscosity 2252102 (Pers) 1s
Aowing through & pipe of radios 1 m, Average
velocity of oil through the pipeds 1.2 mifsec. [f the
velocity profile is pamboi]cgﬁbﬁ'eﬁﬁfﬂthn

ve]mtt‘y of oil 15

() 1.5m/sec

lna1=1mmmmafaha£bm,-ﬁmwm

eorresponds to the prototype tidal pericd of 12 Hrs
will be in Hr:

- R © 10 o 12
Tw'lmmEﬂhMmmg ..':",4:--, :f"
al a point perpandicular mw, : thti E
‘E"'E'ﬂ“”ﬂm‘wm#ﬂg A

(A v"_|1’ E} Fero

'“2, mwscme{ambemn the cutting speed

the tool fife {T) is given by :

143. The co-eificient of discharge, velocity and

144,

145,

contraction Cd, Cv, and Ce are related s

B Ce
(A) Cd=Cc—Cv M Cd= i
(G Cd=Cexnly D) Td=Cc+Cy

The expression for capillary rise s givien by when,
or-surface tenrion, - Angle of contack and p-density -

2o mnd

h=
Ay h =

© iis Zu-mafl}

h=

&

MNotch is a device useﬁ_lr w;

[ wl{rtr}rwmmrﬂs
WM pipes

@ rate of g thmughssmmmannﬂs "o

B f*;ﬂﬂ? through pipes .

liéj' Which crass-section of a cantilever beam which is

In_:a-dcd with UDL can give economical design :
{Ah Sequare {B) Circular:
() 1-Section ([ Rectangubar

147, What lorgque is Nm is required to give 3 m¥/s of

1485,

waler, 4 moment of momentmum, so that it has a
tangential velocity of 3 m/s at a distance of 1.8 m
from the axis ?

(A) 16200
©) 2624

) 157
) 8138

The device which permits the connection and
disconnection of shaftis:

W
— = {onstant
9 ™ ' (A) Bearing B Commector
{0 VT = Constant (D) Clutch {£) Pulley
SPACE FOR ROUGH WORK
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1449,

150

151

152,

154

155,

Heating wek steam at congtant Lerperature is the
same a5 hodting at constant |

&) Entropy (B} Fressure

i} Wolume (¥ Enthalpy

The: term bleeding ina steam arbine refer to:

(&) removal of wet steam in the low proessire stages
of harbine.

(B) leakage of steam,
() steam extracted for preheating foed water,
(O steam doing no wseful work,

Which of the: Following 1% an extensive property 7
(A temperalure (B} pressure
o density (Y enthalpy

Thie latent heat of evaporation of sater at 100°C is
a0l k[ ke, Wm:ﬁﬁmdmwﬂﬂ;wm:d

with the evaporation ¥

{A) . ~25.6 K]/ kg-K (B MM&

O 6= 1P K/ kpK l,D]L ﬁ.ﬂﬁkﬂkﬁf
Ulsing lubnqa.nr_r. on engine ﬁﬂﬂﬁ :s nn @umple af
reducing

(4} Motion

0 Acceleration

(B} Porce
(D) Friction

Omie poise is equivalentto o
[A) 1kp/mebr ;
(B) 1gm/cmesess

i 98 dyu |

() 66 kghsec/

For maxi ratic of the pressure atthe
itand at ‘the nozzle (Pof Py is equal to -

o WLHHIIII"“”"

;&mnnw o
{C} [2/(n+1))in=T)fn
) (2/in+ 1)V iR+ D

The process of removing unwanted material from
the casting is called :

157,

158.

154,

160,

161,

162

183,

[F in a diesel engine pestrol isused then the engine
weill -

(A) run at low speed

(B explode

(0} runat high speed

M} run with high knocking

For a closed system, the difference between heat
added to the system and work done byﬂvzsyslm
isequal bochange in :
{A) entropy

{2} internal encrgy

(B teoaperatune
(D) enthalpy

The indicator on an engine is used towf‘r%g: L
() BHIEFTS, 1!

PN

(A LHIP and mcp
() Speed

"I"hc-nrm[arﬁh
Mlﬂﬂmﬂf

© 42mm

The process in which no heat emtars o leaves the
system g called as

{A) dsentropic
{0 isochoric

(E) isuharlc
(1) asothernal ©

Twogases X and ¥ having the same temperature T,
fhesamepmqsum?sndﬂmmtmhmm?m
mixed, If the mixture has the volume V and
temperature T, ther Ehe pressue of the mixture will
be:

T
W ®m 5 QP oo

Which gas among the following has the highest
walue of adiabatic index ?

(A) blowing (B) cleansing (4} Helum (B} Mitrogen
() finishing (D) fettling () Choygen (D) Methane
SPACE FOR ROUGH WORK
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ind.

165,

D) cutting anghe

Rotameter is a devier used o measara:
(A} Rotation

B Absolule pressure

1) Velocity of fluid

13 Flow rate

The piston of a vertical piston-cylinder device
containing a gas has-a nm;; of 60 kg and &
cross-sectional area 0,04 m” The entire system is
placed ina vacuum chamber. [f wmperatare of the
Eas is FIFC. What is the pressure of gas inside the
cylinder?g=98m/ et

o
=
n
EJ
=
ity
A
-
1]
=
E
%

(A lipangle
(B} clearanee angle
() rakeangfe

]

Tih,

170,

171

1

174.

A leng ciecular cylinder has 2 diameter [ and
length L. The slendecneéss ratic of the column s |

i I
A} \o {B) [5)

L 4L
oF) o5
Rivets are generally specified by -

(A} Diasmeter of head

{B) Thickness of plates tobe riveted
) Lengthiof sivet

D} MNominal diameter

A beam is fixed at oneen,
A lomd aces [ the conlre.

Which of the following material i5 added to base

sand to impart bonding strength ;
{A)} seacoal B silica
£} bentorite My wood flour

The commercially available petrol in India has an
octane rating of ;

(&) 8390 (B 20-30
Q050 (©) 60-75
Herring bone gears are:

(A Drouble helical gears
B} Spur gears with small teath

) 4 Pd
© :.ﬁ_z. o _zf {0) Large worm gears
i i_'[:l} Spiral gears
SPACE FOR ROUGH WORK
DD-2014/ Pageh 654 OM 4

SR S ey



175.

176,

177,

178,

179,

180,

_.__._:a:ﬂ‘l

Which of the following fuel having maximom
fesislance (o detonation 7

(A] T=heplane B benzene
() toluene {0} isd-octane

In arc welding temperabure penersted is of the order
of;

(A) B0
(0 3500°C

(B) 1000PC
(D) S50FC

A fan rotales ata constant speed of 80 rpm. Thee total
angular displacement it makes in 10 sec is -

(Al e (Bl 10+ rad
() 4l rad o ks rad

Barometer is used 1o messure :

() Rain lvel

{B) Pressure in pipes and channels

Q) Atmospheric pressurs

(L Very low pressure

Bending moment at the s‘uppuﬁ-ﬁm of simply
supported beam s -

(A) =1 B) Zer —

1 ) <1 i

Aﬂimplysupporh:dhramu%im h_‘_l i ] M

to a distributed load of 0.4 N/ mairnum

Treding mornent ! is:

(A I-“N”,ﬁ!’" . ‘;:

(© 003K, ©), 0025N-m
ﬁ\mmmm&lmdmmspwi i g,

e Watt governor are 72 and 68 respectively. The
speed of the governor is ;
@ 2 © 8

o) 6

The rate of change of moment of momentum
represents the :

(A) Power developed by the Auid
(B Force exerted By fuid

{0 Torgueapplied by the fluid
() Wik done by the fluid

183,

184

185,

156,

1
-ﬁ mﬁter than zern bist less than 2

187,

189,

Fan belt in autemohiles is:
{A) E-Section V belt

(B A three laver flat baly
{5 Adfivelaver flar belz
{13 B-Saction VW hele

For a particular ideal gas, the value of R is
0260 k}/ kg and the value of vis 1375 The value
u[CF,and C, are, respectively, in k] kgl

(A) 125, 08 B L0267, 07467

5 1111, 6a O} L2070

The compression ratio for diesel Lngm-e;ﬁm]q
range ol

{A) 301040
) 15t0 20

(55 a0
u;gmnm R
ledegrmulmmmﬂ:JJEE
Eg,ﬂ!ﬁh'l -+ .

%atmm = .

I[D:l greater than E but less than 1

A fluid with kinematic viscosity 04109 m¥/s
flows through a B mm diameter pipe. The
maximum velocity for laminar flow will be:

A =Zmfs {#) =10mm/s
) =1m/s ) =1.5m/s

Which is nota part of magneto-ignition system 7.
(A} condenser (B batwery
(3 induction coil (I circuit breaks.

It the z-component of a foree s negative and the
yoomponent s postiive, the direction of that foree
st Tie in the -

{A) Fourth quadrant (B) First quadrant
{0 Second quadrant {T7) Third quadrant

SPACE FOR ROUGH WORK
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190,

191.

132

193

In & gear drive, moduale 5 equal fo:

1 1
) Diametmal pitch {B)  Circular pitch
© Circular pitch o) Dlamt':-al'ed_tﬁl

w

The quantity, which is equal o rate of change of
momentum is knownas

&) wmpulse (B displacement
{C) acceleration T force:

Mu::imge centrifugal pumps are used to obtain
MS x

o ar o) dfe -~ -

1%,

The relation between the number of links (L) and
number of pairs {F)is:

i) L=2F-3 (B) Le=2P=2

D L=2r-4 (D) Le3=2P

197.

195,

199,

A-current meter is a device for measuring
(A} Viscosity By Welocity
(0 Current £ Presswere

Densiny of water is maximumat:
(A} 277 Kelwin {B) T
(0 (" Kelvin iRl e

An igathermal processis one inwhich ©

(&) The pressure of the gas in the system | i
proportional to the volumeof the gas,

B} The internal energy of the syste
consideration d ! ]

[} The heat transier
mm-d:mﬂmu

) The tempet

A ;:ln!pm‘l:sa‘n.un {B) scavengeing
{5 supercharging ([ detonation

—ﬂdﬂ-r
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Failare b W of the absowe Enstractinns

vatkdldare wurh prnalty an e el £

R o 1t Bach of m" - Rfu“m“m“‘”‘“
e prkmiva] L g

wurﬂ.l.lru l'-hn e
iy, Ees et iperrud Loy sl

Y et
Mo pugh work (s bo be dose on the Answer-Sheet, Space for
e i b pravded ebove e qEstions o
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TEST - (i)
GENERAL INTELLIGENCE AND REASONING

Diirecticns : In question nos. 1 to 8§, select the related word/
letters, number from the given altermatives.

1. 5:26::8:_1
(A} 67 B &

€ 65 (D) 66

x Pyorrhea ; Teeth:: Eczema: _1

(A) Skin (B Heart {0) Lungs (D) Eye
3, W= 14x150 GG __2

() 5=17 B 13x16

i) &%18 oy 7x19

4. Writer ; Book: _?

(A) Composer:Song
(C) Poei :Poet

BMOCX : CNDY 22 o2 EXFW

=
T (A BWEY (@}
. {Q FGUT )

fi. 2B
(%) 248 - (B) 238

Directions: In question nos. 10140 18, find the dd pumber
letters/ figure;/ number pair from the given alternatives:

10, () 71-27 B 9-27
& 9-12 0y 15-19
1L (A) 38-76 (B) 25 - A4
{0 3-78 o 3-8
1 W57 |38 (O e84
13. (A} Sphere (B} Triangle
{0y Circie 0 O

(B) Encite
(D) Prosper

(B8 Vaigai
0} Marmada

19, Which one of the given response would be a
. g n meaningful order of the following 7
4 .
w5 ® g O 3 © 5 (1) Tissue (@ Cell (3) Organ
- (Ay @, (3 (1) (B (1) @3
9, Which one of the following is always associated & @00 Oy (), (15
with JUSTICE?
() Autocracy (B} Hypocracy 20, Which item will appear third in the dictionary 7
(©) Democracy (D) Legitimacy @ pair  (® pain (O prge O pall
SPACE FOR ROUGH WORK
DD-2014/ Fagel 654 OM 4




Directions - In question nios, 21 1026, 8 series is given, with
one term missing: Choose the correct alternative from the
given anes that will complete the sy
21 LB _ T 145765

(A} 74 m 32 Q) 40 o 33

22,  BCFGH, KLMN, _1 . XYZABC
{A) QRSTU (B RSTUV
Q) PORST 0} QRST

23, DF_1 L MO
() IN (B CE @O D) AC

. 712192839 7 _
A (B 49 iy 57 Ty 52

25, DMPFLN, HELJJ), 7
(y MIH @ MI 9

36, Z3A WeD, _2
(A)’ R31E
Q TG

Q81], N2 Y

I|'|'

ﬁ .
o 5&@
27, 1 "EVENT “is coded as 54552 then ‘R i

coded as:
[A) 9545575 (B) 8455753
(] 9845575 (D) 87354

EYDSMNY
(A) mountain {B) city
) animal () dwver

(3

If radius bis double that of radius a, the area of the
smallet circle to that of the larger circle is in

pd.‘ﬂpﬂ‘ﬂm'.
@ 1:16 B 122 Q14 (@) 1:8

lrmiﬂvem&nmeﬂrsigmmﬂuhlhwin'gmlmuﬁdﬂ -q;.
figure:

7.3.6m74

LARE B m —+ 0 —x | —=

Insert the arithmetical siges in the
numertcal ngre .
9,3, 4, 6=29
(A} %+ —

(A) 100 (B) 36 @121 . @) 42

o) 84

w2 ®aes ©8 D

SPACE FOR ROUGH WORK
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34,

Ram started from his house and travetied 3 km
bewards South. Then turmed leftand pravelled 4 kit
Then again he turned right and travelled 3km, From
thise, he turried left and travalled 4 ken. At what

distance is he now from b haouse T
(A) 15km (B 5km

(€ 10km ) 14km

traced ?

{A) Trapezium,

Answer figures :

DTS

[

41 This Venn diagram shows thie no. of people who

can speak Telugy, Hindi and English. Find out the
total no. of people who can speak all the three

m13 @nun o

Indicate the Hest relation among blackboard,

clagsroom and school.

g (R 2o
@) ® . © o

Directions ¢ In guestion nos, 44 and 45, one or two
thﬂhwedhfhmcmml, Hand
1. You mem'm\atammntwb:hu&mfﬂ
mﬂnsmbeatﬂﬂm&ummmd}rw-m_. You
mhdgﬁﬁewhﬂiu&ﬂﬁgimm}uﬁﬁﬁuﬁdeﬂrﬂlﬂ}
e drawn from the given statement. Indicate Pour answer.

44, Statement: Some fishes are crocodiles. Some

Crocodiles are snakes, No snake is

Conclusion: 1 Some snakes are fish
I Some fishes are tortoise

(A) Nmeddmeﬂcq-duﬁmﬂar-iﬂhuuw

B Conctusion 1 fallow

i) Conclusion TLfollow

fix] m-mcmmm:mufauw

SPACE FOR ROUGH WORK



45, Statement: Jessica has 4 children. Two of them
have bite eyes and two have browmn
eyes. Half of the children aré girls,

Conclusionss T Atleast one girl has blueeyes
T Twool the children are boys,
[l Theboys have browneyes

A1 Conclasion Tonly

(B Conclusion 1T ondy

{0 Conchgion Land TH oy

M) Conclusion 11 and Honly

Directions: In question nos. 46 and 47, which answer figre
will complete the pattornin the quesstion figare,

46,  Question Fgure:

Answer figures:

me

] (< o)

E
(A

A piece of paper is folded and cut as shown below
in the question figures. From the given answer
figures, indicate how it will appear when upened.

Crrestion fgure ;

the answer figures (5Ahe
figure . previouspapers.

Answer figures :

LY 744

In the following question, a makrix of certain
characters is given. These characters follow a certain
trend, row - wise or column - wise. Find out this
trend and choase the missing chazacter accordingly.

A ¥ =
I G i

L?T r

@ RHS
oy Rt

SPACE FOR ROUGH WORK
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52,

56,

38

TEST - (ii)

GENERAL AWARENESS

Diiring Mational emergency, the following article
cannot be suspended
[I,\]' Article 20
{0y Article 21

@ Article1?
) Article19

Which one of the following states has a separate
Constitution 7

(A) Skkim

By Assgam

() Jammu and Bashmr

L4 Arunachal Pradesh

“Oirigin of Species by Matural S-:lci:l.-inn" wias writlen

iA] Willlam Harvey
{0) Charles Darwin

mﬁw

How many islands are MMIM?

war @ 7 O NEE e B
Cockroach is -
{A) Sanguivorous ®  Carnivorous
i) Herbivorous )] Dﬂuuvumtg 3 A

-Whu:h of the fcl-llmi.mg pim‘l’g_sﬂnmjﬂm‘ﬁ

reclamation of m\fnﬁi =

10} Devendranath Tagare
(0} Dayanands Saraswathi

The banks are required to maintain a certain ratio
betwesn their cash inhand and total assets. Thisis
calbed |

{A) CLR {Central Liquid Reserve)
(B) SBI (Statutory Bank Ratio)
{0 SLR (Statutory Liquid Ratio) -
(D) CBR (Central Bank Reserve)

DD-2014/ Pagell

5t

al.

N

B3,

The chemical substance prosent in bones and toeth
is

(A Can{Bqly
{C) CaglPOygla

(5
LR

Ca[NUg)
Cak,

What ig the primary effect of excess phosphorous in
the aquatic environment cailed ?

(A Radmtion B
) Mitelfication {3

Fization
Eutrophication

Pt

MS Office, Phatoshop and Animagic are @gﬁam '

ol swww. proviouspapers.in

() Device driver i i -
By Application softwage = e
(© Systewsoltusase, '
L8] Opewm%mm

':mﬁmmémim:
) lindlireet nd Progressive
(B) Directand Proportional

ECI',I Ingirect and Proportional
1 Dirs::tandFmgress-ive

MNABARDIsa:
(A) Department ~ (B Bank
() Bumu (0  Beard

The onsetof reproductive life s called :
{A) Maturation (B Menarche
(C) Menopause @)  Puberty

Which among the following instruments
praduces electricity 7

{A) Transmitter () Hectrografers
(C) Dynammi ([ Voltametre

%
Uljilu{uiectrtcnumdfs:
(A) Velocity @ Vs
() Ampere [y Calorie

654 OM 4
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B,

74

Reservation for the Scheduled Castes and Scheduled
Tribes in the services has been provided in the
Indian Constivotion wnder -

(A} Artiche 375 ®)  Anicle31s
10 Artcled iy Artcle 365
Mucheaing is present within the:

(A} Lysosome B  Cytoplasm
i) Mitochondris [ Mucleus

The subject e which hoth the Centre and State
Coverrinents can egistate are contvined in :

(A) Residuary List

{B) The Union List e

() TheStateList AN Ao, SN,

(D) The Concurreit List "4 II
B

= i
. \ o "
II Y i TR )
Hanmmgl'mﬂbemuﬁﬁw' ent
called : P | .Fn’:_ A e

(A} Chygen
() MNitrogen

oftheearth (00 Crustofthe earth

The river cauvery originates from which of the
follawing states?

{A) Madhya Pradesh (B Andhra Pradesh
) Tamil Mada @) Karnataka

Thie Jawakiarial Nehru Port is locatéd at:
(A Kolkala (%) Paradip
{0} Cochm 0 Mumbai

DD-2014/ Pagel2

750

B1.

HL

Which fype of energy is converted into electrical
energy by abatlery ?

i) Thermal (H)
i) Chemical

Mechanical
[ Biological

Birthday of which Indian personality 15 celebrated
on 204 Octaber along with MK Gandhi 7

(Al V.. Singh

{B) Rabirdrapath Tagore

i) Bal Gangadhiar Tilak

{T Lal Bahadur Shashtri

The 248 Thirthankara of Jainism ;
Ay Mahaveera
{2} Parshwanatha

eraseiands in Brazil are called :

Ca B  Downs

() Prairies ) Fampas
Which of the following s triploid plant 7

T {A) Cronge (B  Wheat
(C) Banana @ Mango

The fundaméntal dutiessare incorporated in
Article 514 of the constitution of India by the:

{A) 44" Amendment Act
(B 41% Amendment Act’
iy 420 Amendment Act :
i 43 Amendment Act

A consumer i said to bein equilibrivm, if: %

(&) Heisableio lumlrmmu:mai imcome.

{B) Heisable to fulfill his needs witha given level:
of income.

(€} His income and expenditure are equal.

(0 He can fulfill his peeds without consumption
of certain items. :

B4 OM 4



B7.

Which metal sives H; with steam in Red heat
condition ?

& Pl B < © Ff ([0 Ap
The source of River Yaigsl is i the hills of |

{4} Cardamesm B} .ﬁ-gast'l‘l.'mr

(0 Amarkauikak o) Jawadi

The universal energy currency of plants and
animals s |
{A] ATF

{0 Calasie

@ Chlarophyll
{4 MNADP

Air pollution is caused by :
&) Loud speakers (B Insectichdes
0] Sewage

Who amoig the follow
DEM‘E“'I*MW‘: I

A ﬂ'ue\f'ﬁiac‘uﬁh(mr -
(B} President of Indfa ,
{O) Chicfjusticecfindia | [

D) Governor of aState .

Where in India can you find the highest cricket
ground above sea level 7

(&) Guwahati / Dehradun

Q) Chail ) Cwalior

The fertilizer Mitrolymis:

(A) CalM+C [ CacN,

£ GatN+C M Ca(Ch), +00,

DD-2014/ Pageld

62 “Sambalpur is situated on the bank of which of the

95

9.

tollowsing rivers T
{A) Mahanadi B Yamuna
() Saraswati Oy Saryu

The Per Capita Income is obtained by |

(Al Dividing the total national capital with the
profit eamed.

{B} Summing up the income of the citizens ol the
O MWW previouspanars. in

{0y Dividing the national income by the populatior,

(TN Estimating the minimum imcome of indiviglual
cilizens,

With increasing quantum nember, the energy
difference between adjacent energy livels inaloms -
{A) Decreases first angd then ihcreases

(B) " Dwxcreases

{0} Inwreases ¥
(T} BRemains constant

a7, h&gaﬁhmsmnﬂrﬁkﬁmbaﬁndmmtw

{A) Selenkos (B Alexander

() Philippaos ) Justin
98, In the etching of glass, we use theacid .

(A) HEF (@ HQ (@ HF [0 H
99,  Steppe grassland is found i

() Russin B Alrica

{C) South America @) Austraiia

10, mﬂh!eﬁgimoﬁgimtﬁdwiﬁ\ﬂwm}mEn{:

{4} Rangit Singh (8 Ramdas
(C) GuruNanak ) Govind Singh
634 OM 4
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101.

103

1.

105.

T,

07,

TEST - (iii)
Part - A : GENERAL ENGINEERING (Civil and Structural)

The minimum percentage of steel in B.CC slab
using mild steel reinforcement in given by :

(A} 0.35% B 012%
0 015% o D30%

Toobtain very high strength concrede, it is necessary
o use very fine graimd :

Ciranibe
Barite

1A} Volcanic scoria
10} Magnetite

()
{n

Which of the following type of time is used for
underwaer constructions ¥

(A} Fatlime 5] Qﬂ:‘k{m

) Slaked lime o Hyﬂmqﬂr_ﬁm,e
Which one of the EDIIUWHH Iw'ﬁ%}ing
Capacily 7 ¥

(A Lopsegravel B hﬂ:ﬁz

(T} Saftrocks M) Wompact gravel
Factor of safory is the ratio of

{4) be‘aring;tmssmil;m!ﬁmg‘;__agﬁﬁ ’
() yiehisl:ressandwurk"r siress

() tensile mu‘w

B

Far Hoed ca.gala\ﬁt frmh-aard is measared from

F -.‘ﬁi =

4& @Jlaupplymiwthempn{mhmg
ﬁ Maiupplylcvatmuwmpm‘l}mbam
{0} topof the bank to the top of the lining
(B} fulbsupply level to the top of tie dowel

The property of a material by which it gets
permanent deformation under a load which is not
récovered after remiowval of load is called :

(A elasticity (B} brittleness
(O ductility D) plasticity

PD-2014/ Pagelb It

108, The concrete having a slump of 8.5 cm, is said to

et ;
1A) plastic B  dry
{C} carth moist [ semi-plastic
108,  Capillary rise i5 a phenomenon that is ateribated to
the fellcwing property of uid
{A) vapour pressure
(B) viscosity
(C) densty
(D surface tension
110, The value of T for% pw urfﬂ&::e is
gumm]!\r
A} [I?ﬁ {Ej =l 95, QCII? ﬂgﬁ 057
11&»% p AIW the fineness of cement is -

,ﬁa}' g -] 1[‘!!“11, mmu. evhere at beass 90% (by weight)
‘should be retained

« 0 .-[B} 15 90 p sieve wl‘u:reatleast‘.?l]% {b}' weight)

should pass

I'I:I 15 %0 p sleve where at least 95% (by weight)
should pass

D) 15 100w sieve where at least 90%{by weight)
should pass

112 Strainenergy due to suddenaxdal Toad is given by

a: resultant stress
I*: axial lpad
& detormator
€ o strain
E: modulousof elasticity
1
) SPa (B} e
2 i
e
) ra i 5



ni

114,

115

116

17

118

The maxintum permissable stress for hand doven
rivet i axial tendion s
LAY 250 M/ mm?

) S0/ mm?

B0 M mm?
100 N/ mm?

(8)
o

Measurement of pressure difference hetween bwo
points is, generally done by using ©

(A Venturinmeber

B Pitol tube

() Differental manometer
([} Wone of the above

Calewum chloride added in concrete acts as:

(A} retarder
{H) accelerator A

. ! -:'_&:. k,
() ailt entralning agent ";F“:_.!. L
I plasticizer =i |

The following docume l
description of all items of work
quantities, alory with the currén

(&) Analysis of rates

Bo unit - dimensionless

Toconstruct a massive dam the type of cement used
i .

{A) blast furnace siag cement
(B} low heatcement

(). rapid hardening cement
(D) ordinary Portland cement

DD-2014/ Pagel8

119

121.

124,

Thesizeof a fillet weld is indicated by |
(&) Sizeof the plate

(B} Sideof the rangle of fillet

(3 Theoatof the fillet

M) Length of filler weld

T litnit state method of design, for bars in
compression the values of bond stress shall be -

A} Decrpaged by 25%
(By Increased by 20%
(] Decreased by 20%
{0} Increased by 25%

The main gas liberated from an anserabic
digestoris:
(8) NH,
0 oy

B o

Spacmgof 51

WA

eased al the coritre n!thsbeam

The minimum percentage of longitudinal
m%nf-:memmtmm‘.‘.tmmﬂmm .

w1z ® Lo 08 O 10

f ?r T 8
The bearn shown in Fig, i5:

(A} Freecantilever beam

(B Singleoverhangingbeam

(€} Double overhanging beam ~

(D} Proper cantilever beam

Iheahrbdxmﬁsraﬁonfacﬂlmﬁ'ﬁ'SMwhmim
lengh:

(A F.[fattlvelengihwsqmllﬂ-ﬁduﬂle:@&t

{B) isverylarge

[(8:] sequallum:raduu-uigmpon

(s iﬂsuppﬂﬂédﬂﬂkﬂﬂlﬂ!ﬂth%ﬂlmmm

654 OM 4
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126,

127,

128

- 130,

131

133

h‘liJSIilnpurlﬂﬂItﬁnﬁtitu.\:nlsal camEnt are?

{A) Cyhand Co5 B CySand CiA

(0 CSand 5 B Cyhand G AF
Which of the fallowing has least carbon comttent ¥
{&) Wrotght kron (B Castlron

[0y Wil Steel oh  PigSteel

When & 15 the radius of the curve { in meetres), D
the ¢ sof curve [ in degroespand ength of the
chaed is 30 m, thei the relation between Band D
is

A} R=5400/1
{0 ®=1720/D

® R=1520/D
) E=4500/Dx

The fioor area inclusdes tlwarsanfdjgba];nny uphs:

(4) 5% @ 85% O @ -] 0%
' .n:.:- ij‘?".h.

v
Cenerally concrete cubes are testoed measuTe
concpela'st

() Compressive srength

(B Tensilesrength & e
) 'l'a'ﬂ.!itmg \

Which of the following s a dimensionless
“quantity 7 )

[A) Shear force

(B) Stress

{5} Strain

{0} Modulus of elasticity

DD:2014/ Page20

134, Wcight iof one bagof cementis:
Ay kg B} H0kg
Q) eiks @ e5kg

135, The flow constant 'L’ in Darcy Weishich UL
for hiead Joss in piped fowes has @ it ok

#
(0 kg-m/sec

(&) o unit -~ dhiversion less o]

{0 m/sec

136, Steel corrodes in exposure of air and moishure and

st bas -
{#) 2.5 times the volume of steel
(B) 0.5 times the volume of sleal

{0 equal volume com
ted

138, Wurkahi[it}'ufmnﬂmisdimﬂljpmpwﬁbmlm: .
i) timeol transit
fii) weaster cement ratio
fiif) grading of aggregate
fiv) strengthof concrete
(¥} sgregalecement ratio
(A (), (), ) (B O )
{€) (i) (i), (v (@) (), i)

A 40 e diameter cireular mber columnisd mlang.
The slenderness ratio of the column is:

® 10
() 40

(A 2042

Q 20

654 M 4
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140, The percentage of the fine aggregate of fineness
modulus 2.6 to be combined with coarse agaregate
of fineness mochlus 6.5 for obtaining the aggregates
of fineness modulus 5.4, is:

(A) 0% (B 0% O W% @ 50%

141, Administrative head of public works department
wha is directly responsible to Government is ©

() Assistant Engineer

(B} Executive Engineer

(£} Supsrintending Engineer
(D) Chief Engineer

142, T}mlﬂaﬂ-l‘ulnra‘ppii&dmwindmldse&smmlna:ds

in design of steel strugtures s =
R

(A} 22 B 13 48 13 1.8
; R

L

dinal

146. The type of surveying which requires lesst office
work is {Jeast caloalation) :
(A} Theodolite surveying
(B) Tacheometry
{C) Trignometrical levelling
(Th Flanemble surveying

DD-2014/ Page2?

147. Admixtures which cause early setting and
hardening of concrete are called :
(A) Airentraming agents
(B Workability admisture
{0y Accelerators
{&) Retarders

198 Bagzalt stone is by nature
() et morphic i)
10 plutenic (i

volcanic
seditnentary

149, Inopen chanmels, maximum velocity ooours:
(&) just below the free surface

(B) atthe surface
() near the channel bottom
() in the mid-depth obd] %

ohear Force at Fixed end is :
_ (A} 100k (B FOKN
© 80K @) 90 kN

151 Inasimplymppmtedb&miﬂh;ﬂ:hLmt@nmdm
Uniformly Distributed Load (UDL) of intensity
W KN/ m over it's entire length the maximum

- bending s given by the expression:
Wit WL
@ LAy
WLZ
LA Sl

152, “The relationship between viid ratic’e and porosity

nis:
1+
{Mnnl—-i! {B}e-n[']_-!-g}
e o
= g ) 1-e
654 O 4
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153, When oo onoa map represents 10 mon the ground, | 158, For producing electricity, following combination of

the representative fraction of thescale is. machines will be required :
1 1 {A) Electrse Modor + Pump
M oo ® 0 (B Hydraulic Turbine + Generator
0y Hydrawlic Turbine & Electric Motor
1 1
e gy — +
() 100 ) T0m (M) Gemerator + Fump
154, Lrrigation efficlency of an irrigation system i the
1848, A simply supported beam ofspan ‘L' is loaded with AR §
downward uniformly distributed load of intensity ) _
W fmpover If's entire lengzth. Which of the following (A} Water reaching the farm bo swatir defivered from
orientation of T-beams is preferred to resist the source
bending ? (B Crop vield to total amount of water used ma
field
| {C) Water actually stored In root zone b
(4 delivered to th farm:
) Water actually utilised b
water delivered from the

oL

155, The tolal energy lin lies over
line by an amountequal fo:
(A} sum of pressure, velocity anid datum

(B pmhad,% &

\ 162 Gravehand sand belongs to the following category
of solls
(A) alluvial (B)  cohesive
() expansive @) narine

af a rivet hole is made larger than the | 163, The shape of Bending Moment Diagram ina beam
- subjected to only Uniformly Distributed Load (UDLY
B

{  Lbmm

S (A) Constant (8  Cubleparabala

() Parabola @  Triangular

o 157. A flyover seggregates traffic with respect b 164, Toprevent sulphate attack in cancrete, for preparing
(4) direction {B) grade cancrete mix, water pli mustbe within:

() speed L) class of vehicle [A) 7-10 (B 4-6 {q 5-7 ([ 4.4

D-2014/ Page2d ! B34 OM 4



165. I'-urs.ubcri.!icaiFlu-w,ﬂ'lefraudermmheris:
(A} Mot equal toane By
{0 Greater thanone (D) Equial to one

l.ess than ope

166, The permissible bemding stress in warking stress
methed of desiggn of columnbas: {5 congidered anual

i
(A) WET by @ 6y
(D) 6Tty oy 0756

167, T single laced golums construction, the thickmss
af the Hat Jacing bars shall rot be lessthan -

1 ; .
() -,I—Eth of the width of the W-r -

" f
1By Eﬂ-.bhhﬂéﬁmive 1
Lo N~ A
b . "';;",!'-F"-*.‘r' ::_-
&) Elhufﬂﬂeeﬁeﬂﬂvehnﬂfh&f%‘%ﬂn&

L
o _—lal.hufﬁsewidmoi the Tacing bar

an&t}ju[wchlnrtheﬁhm:gnldmmd
wi Aorwvs 15 caleulated in ; '
Q m @ m

470, Theplanof a building i in the foren of square with
centreline dimenslons: of  outer walls as
147 mx14.7m, U the thickness of the wall in

mPeﬁhlmlﬂhmmMitﬁplhﬂlwiE:
(8] 24w B 150m?
o) 216 ot o 25w

OD-2014/ Pagel6

171. mmmrlinEBm11Ermmanntherﬂnmopun|}f
i the cose af |

() anoverhanging cliff
{B) aversicat chll

(5} avalley

Iy andge

172.  The purpose of stiffeners ina plate gheder 15 Lo
() prevent buckiing of weli plate
(B} reduce the shear SiTess
() takecareaf earing stress
(O] increase the moment carrying capacity of the

173, A Ouid, which is incompressible and 13
wiscosity s 12
(A} Tdeal fluid
{8} Real Duid

 of prop: + during its useful lfé based oo
e and depreciations 21c. is knownas:
(B Salvagevalus
(D) Bookvalae -

175, The relationship belween atmosphere pressure
(P BABE PrSSUIE (P and absolute pressurs
{pibgisgiuenby:

(A} Parin ™ Paba ™ Pgage
(B Pavs= Paten + Prage
(3 Paba™Fam— Pgage
M Papm= Pabs T Page

176. htaahuﬂurc,:abiﬁ'aﬂdvrirﬁm used gemerally
as
(&) toresist shear stress
() tension mesnber
i comprisssion member.
@) flexural member

177 mmmmmmﬁ'mumh
lﬁ“’m,ﬂwmgnmcdeditﬂdqnwﬂlbe:
() 20 soath (B 50 easl
{0 5720 west ) T2 north
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178,

373,

180,

18L

182

183,

184

185,

A ROC column is regarded  as long colum i the
ratio of its unsupported length between end
restraints to least lateral dilension is more than |

W BO®m 150 [ 125 (D) 60

The height of instrument isequal to;

(41 Reducedlevelof bench mark — back sight
) ReducecHevel of bench mark + back sight
i} Reduced level of bench maek + fore sight

([} Reduced level of bench mark 4+ Intermediate
slght

Thickniess af Plastering is asually :
fmm
25 men

(#) Mmm ()
5 1Zmm i)

Waler absorption of Class T bri
immirsion in water should o
of sall weight.

(U

18%

For a given aggregate rat
cemnentratio: |
{#) increases the strength \J
(B) decreases shrinkage
[€) increases shrinkage
(0} does not cause any change in

it of a s0il {5 greater than the

When the p &
' e plasticity index s reported as;
-Epfﬂ'i

T} Zever

(D) Non-Plastic {MF)

Compression members alwaya tend to buckle in the
direction of the:

{A) Least radios of gyration

{6} Aods of load

{C} Perpendicular tothe axis of load

(D Mindmmum cross-section

DD-2014/ Page28

186.

187.

188,

189,

s per 15456-2000. In the absence of fest data, the
approsimate vislue of the Sotal strain for design may
be takenas:

() 0.004
& 0002

{B)
i8]

o001
0,083

Epparation of water or water sand cement friam @
freshly mixed concrete is knowas

{A) Sepregation B} Flooding
€} Bleeding oy

Creeping

L

L

|
dﬁ _I

-
Moment of Inertia of o
Fig. aboulils i

The correct prismoidal Eﬂxﬂm]i for valume
caleulation is !

() 2 | first section area 4 [ast section area + 2X
3

even numbered section area +4E odd numbéred
section areas |
12| first section area + last saction area + £ even

numbered section area+ 25 odd numbered
section areas |

— [ first section area -+ last section area + 4%

mnumhaedmchmm+22mldmmd
spction aréas |

(&)} g | firsk section areq 4 last section ares ¢ 25

evennumbered section area +4E odd numbered
saction areas |

631 OM 4



190, ZincOxide fsa pigment havingrolour . | 196 Lising steaight line method annual depreciation
' [ s equal te:

(A} blus @ white '

Life in — serap value

© :,l‘ﬁk]l:lw e {-!'h:l year rap value

Draginal cost

i ® Scrap value — life in year

191, Thecorpection for sagis: Original cost

{A) Somne tines additive and sometiznes subtractive _

Eﬂ&iﬂal et — life in year
scrap value

(8] Alwaysadditive 8

0 Alwayssublractive
Crriginal eost — scrap value
life i year

[0y Alwayszero o)

“R—?ﬂd"'mﬂs&aﬂﬂ tread o
horizontally and steps are suppu
o side and by stranger :
sheps are desigre

Segregatidn in the concrate scours when: -

(A) Cement gets separaid from mixture due to
CxOes waler

(B Coment fails to give adequate hinding guality
(0 Water is driven put of concrete at & fastes rate
([} Coarseaggregate tries to separate out from the

G0 mm

199,  Unitof second moment of anea is:

. The centrifugal force on a carmoving on & horizental ;
drcull.rcun'eispmpqrti_.;:llm; h . _E"!"} mm (B mm! {0 mm" o mm
e i 200, BOD sestisconducted al atemperatureof
W (gr) B (gr) (A} Ambienttemperahire ® 157C
© 20°C o 2rC
T .
© (gx) ® (&) ' e i
DD-2014/ Paged0’ o - —



101,

103,

1,

Tla.

TEST - (iii)

Part - B : GENERAL ENGINEERING (Electrical)

A lamp having mean sphesical candle power ol 8001 107,

i suspended at 3 heighy of 10 e Caloulate the
illurination just below the lamg.

(AL 800U lus ®
LS M

B lux
B0 lux

Hydrogen is used inlarge albernators matnly to
(A) risduee eddy Cormentlosses

B reduce distortion of wiv form

(0] cool Lhe mackins -

(L steemgthen Hhe mag netic Beld

118,

Twawites A and B have the sa
are made of the same ke
Ry= 100 L0 The number
(T8

A5 * @ B

o 1 :
a * by A
Iey the civcuit shown in figuns Tind he trapsent
current ift) when the switchis fart=10, A

zéro mitial condition

110

-« Mall model is applicabie to: =
B BT
(D MMOS Harlslshi: i ur

A die. voltmeter has s sensidivity of 1000 ﬂ,l"watt.
When it measure half full scale in 700V mange, the
crrent through th volimater will be:

(A} ShmA ®  100mA
{3 TmA @ 03mA

112,

DD-2014/ Page3l

111,

A delts - star transformer has @ phase w phase
voltsge transtormation ratic ot a 21 [ delts phase
star phase |- The line toline voltage ratio of star -
delbais given by

a 5
3 ®
- ﬂ{i ED}%

Which o the foliowing motors can be run on A
wiell as D.C supply 7
(A} Beluctance-motor
{B] universal motor e

o
100V :
(B 06lagging
() 0.8 lagging 3

tA) 0.75 lagging
0 0.3 lagging

The povrer factor of an a.d-circuit is given by :

E ol gl p%
H Z ‘E} B H B [D} ;{L
A symehronous motor working at leading power %
factor can be used as -

{A) m&@mlcds;-zﬂmm!mr

(B} voltage booster

() phase advancer

{0 noise generxbor

A TS0V dle, motor of armature resistance 0.4 {1 has
back emf of 142 V. The armature curnent is:

(M) 100 A ® 1A

{0 2GA o) 1504

Do s

G OM 4
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113,

114,

116,

117,

120,

Ascapmpared b full - wave rectifier using hwe diodes,
thee four disde-bridge recrifier has the domimant -
advantapeof-

{A) higher efficiency

(B} higher current carrying capacity

(F Joswer prad imvierse voltage requirement

(T lower ripple factor

Spead of the megger s kept at
(A 160 rpm (B} 100 rpm
() 120 rpm M 1#pm

Two 1K W, 30 ¥ Jamps aré connected in series
across a X0 Vaupply, The toal power consumied
by each Jamp will be weigids @

(A) 200 (B 25 (O 50 @) 100

The Biot-Savart's law is a gens

(A Faraday's laws {E-}g : .

(O Lenz'slaw )

. R Ples __._'-.{‘. ; <
The active and reactive powers of eltictive
circuit are 60 W and 80 VAR respactivalp. The poweer

factor of the croaitis
Ay 0.8 lag

et 1 at does nod pesponcd o Faulks
5 its zome even though the fault
nay pass thro' the zoneis:

1f ¥ is the load factor, the loss load factor is given
t':]r.

(A) DASF+07E (®  025F+0.75 F?

i D2SF4+085F L) OF5F-+0.20F*

DD-2014/ Page3d

|
121: |t‘ta'35 dijris voltmetor, the largest nombes that can

123.

beead i5;
(A) 9999
i 1999

B 0999
ah 5994

In suburban services as compared with arban

SCTVICED

(A} the coasting petiod i smatler but free running
period is longer

(B1 the coasting periad is smaller

(5 the coasting period is longer

T the coasting period and free runnisg periods

are Sarme

Quadnlateral speed time curvd:

(A) goods line service

The curcent in reverse bias in I - B junction diode
may b
fA) between2Aand 54

(B few mimoor nano ampserss
[E} few milli ampenes

M between 0.2 Aand 24

The repulsion-stant induction-run motor is used

because of

{A) high starting torque
(B} pood power factor

0} high efficiency
{U) minimm cost

Which of the following is non-linar cireuit

(A} Transiator
i) Condenser

B Inductance’ i
m  Wire o resiskor

654 QM 4




128.

123,

131,

132

T B = H cuswee s e tor find the maaf of this section
of the ma_gnzti:; rarcutl. Thesection is ©

{A) wacuum

(B tronpar

() airgap

(0 both iron part and air gap

A terminal whers thres or more branches meset 15
knownas:

(A} mesh
[C) terminus

nede
loxap

il
&

For V-eurves for a symchronous motor the graphis
draam betwern !

(A) armature currentand power factor
(B) fekd current and armatare current
(C) ferminal viltage and load fa
D) powerfactor and tield

Bundled conductors in EHY -.
provide:

(&) increased coroma loss
(B} increased line reactance
(T} reduced line capacitamnce

fi) infrared radiatior

The rated speed of a given d.c. shunt motor is
1050 r.p.m. To run this machine at 1200 r.pam the
following speed control sclieme will be used :

(A} ‘Varying frequency

{B) Armakire circuil resistance control

() Field resistance contral

(O} Ward-Loomard comntrol

DD-2014/ Faged6

Welding usqm;tamm“e;n

134,

135,

136,

138.

134,

Adter closing the switch s’ att =1, thc--zumnu{"c}al
any inatant " in the netwirl shown i the figure

< 111

(AU

Y
(&) 10=10 e~ 00 BI04 10 oM
(C) 16— 10 £IT0 M 10+ 107 10

0V = 0014

Tpan .

To inerease the range of an a.c. ammster vou wold
{A) A condenser across the meter
{8y Current translormwer

[use.

{Cy A potential fransformer

O} An imductance acriss

The un]lage BCED kT

”&_att=5s. *Assiime zero lnitial

(B 0625k
(£ 15625 K]

The energy stored in the magnetic ficld of a solenoid
3 em dong and 3 om diameter with 1,000 tiurms of

“wiire carrying currant of 10 A s

005 |
o5

{A) 115]
i 015)

(B
@

In & power plant if the maximum demand on the
plant is equal to the plant capacity, then

(A} load factor will be nearly 60%

{1 plant reserve capacity will be zero

{0 diversity factor will be unity

() Eoad factor will be unity

The least expensive fractional horse power molor is

Lo -
{A) AL series {B) shaded pole
{0} capacitor start T splitphaze
654 OM 4
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T4

141,

142

143,

-CA)

Whichof the fellowing condition is NOT mandatory
for alternators working in parall=l ?

[A) The alternators must have the same phase
sequernce,

{6 The erminal voltage of sach machine must be
the same.

Q) Themachines must haveequal VA ratings.

D The alternators must operate at the same
frequency.

Finid ehe crarvent tHirowgh 5 {1 resistor

68 {T)

) 23A
g 54

An isolator is wsed in series with Alr blast Circuit
Breaker employed at UTHY l1lﬂh9ﬁlla¥§

(i) B lite is enhanced with the use of isalator
(B current ko be interrupted will be large

) gap bebween Canﬁﬂ&Bmﬂmmﬁm
musedtnsmld'mﬁwdlage i

@) gap between CB poles sl *

D:'.'etsiqrfm. 2 dipert *’tﬁﬂi‘lﬂ

(B Pm:dmst* Wgwahd

F ﬁ?ﬁﬂmﬂ&% the umit generated

ﬁbﬁﬁh variable and fixed costof unit generated

Eagulation of an alternator sapplying resistive ar
incductive load iz :

{4 infinity
§COp always positive

)
L zero

always negitive

145, Ths highest trarismission a.c. voltage in India is
(A} 1750 kY B 132kV
(0 220kV o 4kY
- ok
[23-2014/ Page3s ,_:_.r T

146, Point out the WRONG staterment.

147,

149,

150,

151

. -

' mmmmn (B

The magnetising force at the centre of a dircutar coil
varkes

(A) inversely asils radius

(8] directly as the number of itstums
{0} directly as the curpent

() directly asits radios

The rotor sioss, nan induction metor ane wsually
nok guite parallel tothe shaft because it !

T3y
(B
)

ismiproves the power factor
miprcves the etficiency

el the potor teeth 10 remiain unl.{uﬁe 5%1’

5 10~ %005 2000 t
I:ﬂ._j cns H00H [0} 500 cos 2000t
Ina series poscnance circiill, the impedance.at half
purwver frequencies is:
R R
W2R B[ @ Er O3
A 10 ) resistive load & t0 be mpe e matched by
a traneformer 1o .a source with 6250 £) af interal
resistance. The ratio of primary to secondary turns
of teanaformer should be ;
(A) 25 B 1w g 15 M@ 20
The synchronous speed of 8 three phase induction
motor having 20 polar and connected to a 50 He
source is:
(A) 1200 rpm (B) 30drpm
() 600 rpm Oy 1000 rpm
%
554 OM 4
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1532,

153.

154

155,

156,

A capeuit with a resistor, iductor and capaciorin
series 5 resonant of f, Hz 1f adl the component
values ane now doubled the new resonant frequency
is

A L (B I (O fuf2

) fu

A 2 om long coil has 10 mrné and carries a curment
af 75 maA, The magnetising force of the coil i
Ay 3T AT/m B ZE5ALfm

i) TS AT m Ly A50AT/m

A consumer has annual consumption of 700300
wridbs. I s mraccimum demand is 200 kW The load
factar will be;

(&) 7% (B

W% 6 40% () 50%

The ratedt volkage of a3-phase power SYStemis given

' I
{4) peaklinatoline voltage *

Ay rms phase vollage

{C peakjg-!'m virltags

: L
(D) - ¥rns line to line voltdge

.

N

For & half wawve m:iiﬁqumewave-ﬂm nipple factor
I .- P

W10 . 165 © 14@_{:@” lﬂ;
Which one of the ol is @mjlg
used for nudﬁutwﬁg% and also
capacitangg

{4} wﬁﬁ‘ ;. B Hay's bridge

[q Owen'sbr i& 1) Schering bridge

LEE ;ﬁﬁm trnesters of (01— 300 V) range are connected

159,

el tora ae, drcuil. One voltmeter is moving
iren type reads 200 V. If the other is PMMC
instrument, its reading will be
(&) 1274V B slightly less 200V
{C) zero ty 22V

The least number of 1+ watioeters required to
measure kolal power consumed by an unbalanced
Toad Fed Feom a 34, 4 wire systemn is

wse  o®m 1 © 2 @ 3

DD-2014/Pagedt

1),

6L

164,

ABS,

Total capacitance between the points L and M in
figureis:

21»'-F 2 |,I.|‘ 2 p.r
1 uf
1 pF
I_||l|'l]: —
(A) 405 wF (B] 143 pF
() 185 eF (DY 2065 uF

EMF induced in a coil rotating ina uniforrn nmpgi_qg_
ficld will e maximurn when the: -

(€] Hateof change nFﬂuE '
) Ramolmem@xn ;

f’nﬁﬁ&a:memi Hima RL
tamd of this ciroudt will

[A:il'ﬁﬂlﬁ) (B 0001
o) lis
¥ '.W”tmﬂmruh_r:o{ a lhreephaﬁnn.dmlim mtor is
blocked, the dipis:
a1 @ 0 © 0 @ 05
The positive, negative and zero sequence
* impedances of 3-phase synchronous génerator are
j 05 pu,j 0.3 pu and j 0.2 pu respectively, When
symmetrical fault occurs on the machine terminals.
Find the fault current. The generator neutral is
grounded through reactance of 0.1 pu,
{A) —{335pu (B] —jl67pa
10 —j20pu ) —ji5po
Transient current in BLC carouit s escillatory when
the value of Ris
mire thap 2 |IE‘ B} [eas than 2 JE
A VL C
C L.
{0y less than 2 ¥ (&) meore than 2 ;:
654 OM £
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